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Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 12 and of Part-II are 35.

o P I F T B G 5 59799 § GRa g 8 oy 77 12 8

Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 12 questions.
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® G97-g 4 alie7 &1 &l T /9 T4 H§ TEY Fel Qe F 5 TACYdH F Y-S YT [rdE]

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o PYF FIT F T [T & HNT T Yee, FeT E HHE ST [

Before beginning to answer a question, its Serial Number must be written.
o JUCYRTH % dF T @l g1/ G T 8iS

Don’t leave blank page/pages in your answer-book.

o FUTGRaE & SR g o e T A o SEvEmdgar & g e krar sav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.
o gheEreff 7T T To FIT-UH T 9T [rd)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 I8 GARGT Y A [ G797 §U T 7el 8, YT F YU 39
T 7 g o qrar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() a5 geT S &

All questions are compulsory.
(i) HEAF FoT & 37F ITH THT T T 8

Marks of each question are indicated against it.

(i) 797 @@ 1 @ 5 7% SIqg FTNT 97 81 JA9F 7 2 S BT &1 JAH J97 F IV
TTHT 30 9= F dfory
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Question Numbers 1 to 5 are very short answer type questions of 2 marks

each. Answer these in about 30 words each.

(iv) 597 @& 6 @ 10 % T FTUT 597 &1 T9% F97 3 % & 81 JA% F97 F FAT
TTHT 40 9= 7 Fforg

Question Numbers 6 to 10 are short answer type questions of 3 marks each.
Answer these in about 40 words each.

(v) F97 G&r 11 0F 12 & FThT 597 81 J8% J97 5 SF F 81 FOF 9T F IAT
TTHT 70 ST 7 g
Question Numbers 11 & 12 are long answer type questions of 5 marks each.

Answer these in about 70 words each.

i) F97-95 § g7y &7 § F Qg & & aunfy 5 o#@ am @l d FwhT T §
STIR%E FI7 F&T7 97 77 81 8 7971 & @ gl da & & F97 HAT 81

There is no over all choice. However, internal choice is given in all long

answer type questions of 5 marks each. You have to attempt only one of the

given choice in such questions.

[ ATy ST 999 ]

[ Very Short Answer Type Questions ]

1. Jfseg dAfcmges deawer sAffer wr ? ? 2

What is Gabriel Phthalimide synthesis reaction ?

2. T@ B & TANEN § hep S ST & SR O A & GO 2/3 IR R H
WA 81 A X B &) &9 a1t AR B G 1 & 7 2

Atoms of element B form hcp lattice and those of the element A occupy 2/3 of

tetrahedral voids. What is the compound formed by A and B ?
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3. UF I ST & 1.00 g H 50 g Ii9 § oM W 36 46 § 0.40 K & F#
B S B I 1 fBHie oraHe R 5.12 K kg mol ! B 9T # 99X sHUN
S i 2

1.00 g of a non-electrolyte solute dissolved in 50 g of benzene lowered the
freezing point of benzene by 0.40 K. The freezing point depression constant of

benzene is 5.12 K kg mol~!. Find the molar mass of the solute.

4. IR AT B G B o9 1.25 g mL ' B T SHY 92 g Na® oW uq R 9@ H
Juierd B, @ 3 H Na© ST & Hidadr s i 2

If the density of lake water is 1.25 g mL ™! and contains 92 g of Na* ions per

kg of water. Calculate the molality of Na* ions in lake.

5. WU FHifc H AR & T ReRi®H 200 sec™ | &g H M1 HiT) 2

Calculate the half life of a first order reaction from rate constant 200 sec !.

[ ¥ ST 9 ]

[ Short Answer Type Questions ]

6. TN & T foiem & T o & i fharary fafaw) 3

Write the mechanism of acid dehydration of ethanol to yield ethene.

7. Ni(NO3), & T% o & @ife™ Iodgisl & a9 5 UREX & g1 S@mfed &Xd 8¢
20 fee % fagq owEes fRar Tm Ni @ Rea AET e oX Fafe @ 2 (vi%% ) 3

A solution of Ni(NOgz), is electrolysed between Platinum electrodes using a
current of 5 amperes for 20 minutes. What mass of Ni is deposited at the
Cathode ? (Ni®87)
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8. T U9 FAMREN O FT1 8l & ! T% Bl 0% Saell Qi) 3

What are lyophilic and lyophobic sols ? Give one example of each type.

9. FHROT A L W HIY FHATT L AAR: TN AR it 517 3

Explain giving reasons 'transition metals generally form coloured compounds'.

10. &1 BT ? 9 : 1x3=3

What happens when :

() ned TGS H TEheld KOH & A1 Rhd 6 S 8 7
n-butyl chloride is treated with alcoholic KOH ?

(i) 9 3R H IURART & Sfawi & ABR Fe=ieeE & 2 8 ?
Bromobenzene is treated with Mg in the presence of dry ether ?

(ili) o 3T A IURAT T Rt simEs A AR QfeTH & Bl B 7

Ethylbromide is treated with Na in the presence of dry ether ?

[ € ST 9 ]

[ Long Answer Type Questions ]

11. (a) @ 16 % @l & eEgEel & AU ¥E & w9 & faRaw 2
Write the order of thermal stability of hydrides of Group 16 elements.

(b) =TT SHIHN Bl QU Y 1x3=3

() PbS+40;3 —
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(ii)y 8NHg(excess)+3Cly —
(i) Zn+4HNO; (Wf&) —
Complete the following equations :
() PbS+403 >
(ii) 8NHj(excess)+3Cly —
(iiij Zn+4HNOgj(conc.)—
SLE|
OR
(@) Cl, %l RS A1 &1 HROT FART 1

Give the reason for bleaching action of Cl,.

(b) T BT ¥ T SO, H Fe(lll) T@U & SiiiF faerasT & & wanfed aeq § ° 2

What happens when SO, is passed through an aqueous solution of
Fe(Ill) salt ?

() TS & STHMMY FaeR AT S| 2
Describe anomalous behaviour of Nitrogen.
12. (a) CH3COCHj =1 & oiffhar #t& a1 Sl & 7 1x3=3
(i) NH,OH
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(i) HCN
(iiiy NH,NHCONH,

CH3COCH3 on reacting with the following will give what product ?
(i) NH,OH
(ii) HCN

(i) NH,NHCONH,
(b) FfoReT STfHfshaetl & SME WRdT : {14120

0 CO,HCl
feta alcis
cocCl

.. Hoyp
(i1) —=
Pd—-BaSO4

Write the products of the following reactions :

n © CO,HCI
Anhyd. AlCl3

coci
(i) © 2,
Pd—-BaSO4
YT
OR
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(2) 3-TRSEEIT T IR 1

Draw structure of 3-Hydroxybutanal.

(b) e erffear @ amen Hikm 2

Describe Cannizzaro reaction.

(c) HH UcRI HEWE Pl AR Hio| 2

Describe Cross Aldol Condensation reaction.
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